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 Hiroshima and Nagasaki Decision Making Exercise
	The effects of radiation from the bomb will have devastating effects on the Japanese people and they will continue to suffer illnesses for many years afterwards.
	The USA has spent $2000 million on Little Boy. It would be a waste of money not to use it.



	Everyone wants a quick end to this war. It has been going on for six years and the Japanese must surrender to end it. 


	Japan has no nuclear weapons of its own so the attack could be thought of as unjustified.



	The Japanese have treated American Prisoners of War very badly and the people of the USA want revenge.


	Using the bomb would make other countries very scared of the USA in the future and could avoid countries going to war with the USA.

	The USA believes Japan will never surrender unless we use the A-Bomb. The Japanese fight until the bitter end. 


	The USA wants to prove it is still the most powerful country in the world and this would certainly do it.



	The USA and Russia do not have a good relationship and Truman wants to prove to Stalin that the USA is richer and more powerful than Russia.
	The USA could invade Japan but this would result in too many US deaths so the bomb could save American lives.



	The USA could become very unpopular by causing such destruction and people might turn against the President in the future and not vote for him


	The Bomb would kill tens of thousands of innocent civilians (ordinary people)



	Dropping the bomb in the countryside rather than a city could scare Japan into surrender without killing too many people.


	Other countries may try to develop their own atomic bombs to compete with the USA, resulting in nuclear war.




